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PART : PHYSIC

Find maximum wavelength in paschen series for hydrogen.

(1) 1.54 um {2) 1.87 um {3)1.23 um {4) 2.36 um
(2)
n=4 on=3

L L LR Y
i 19 16
. 12375x107° _ 1367

& i 144

— = 1.8BF ym

Find B« at point ©

(1) 1 =107 Tesla (2)4 x 107 Tesla (3)2 x 107 Tesla {(4) 3 x 107 Tesla
(4)
Bl = ?1_|_'|||_'| ——1 LT'@
dn' 2 4]
x| ]
EIEI=4.‘TMTD :-c4|_3j_|_a
da 4,

Bret = 3= 10 ?T@

Assertion : Angular velocity of moon revolving about earth is more than angular velocity of earth
revalving around Sun.
Reason : Time laken by moon to revolve around earth is less than time taken by earth to revolve around
SLM.
(1) Both Assertion (A) and Reason (R) are the truee and Reason (R) is a correct explanation of Assertion (A).
(2) Beth Assertion (A) and Reason (R) are the true but Reason (R) is nol'a correct explanation of
Assertion (A).
(3) Assertion (A) is true and Reason (R)is falsa.
(4) Assertion (A) is false and Reason (R) is true.
(1)

- E

(i}

If the work function of a metal is 6.63 eV. The find the threshold frequency of metal

(1) 1.9« 10'° Hz (2) 1.6 x 10" Hz (3)2 x 10" Hz (4) 1.2 x 10" Hz

2

E‘Il 663 el

huwg, = &

= 6.63x1.6x10 "
Ga3x10 "

1.6 = 10" Hz

Hz

o=
X
I
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Staterment 1 : Positive zero error is added in measured value.

Statement 2 : Defect may occur during manufacturing of measuring instruments.
(1) Statement 1 is true while statement 2 is false

(2} Statement 1 is false while stalement 2 is true

(3) Both statements are true

(4} Both statements are false

(2)

Theory Based

I |.F'—%.IW — b}= nRT where P, V, R & T are pressure, volume, universal gas constant and

temperature, then T:% has same dimensional farmula as that of

El; R {2} PV (3 RT 4P
2] n
(b7 = [v?]
2

Find total kinetic energy of 1 mole of oxygen gas al 27°C (Take R = -232 Jimole—K])

(1) 6250 (2) 3125 (3) 12500 J (4) 625 J
(1)
f
K.E. = —nRT
2
5 {25)
K.E. = = (1} = {300
2! ]i 3
KE. = 6250 J

Kinetic friction and static friction depend.
(1) Only on surface area

(2} Only on material

(3} Both material and surface

(4} None of these

(2)

Theory Based
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A particle looses 1/3" of its velocity when it strikes a block and covers a distance of 4cm inside the fixed
block. Then find D if D is the distance covered by the particle inside block before it stops.

63 36 54 21
1) —em 2} —cem 3) —cm 4] —cm
[}5 {J5Lr {35r {]5
(2)

2
4L 2 —2ax4

9

0—vZ=2aD
5 — —
9 D
b= 38 Cm:

7]

| o : ) . 100 . 1073
In a series LCR circuit where coefficient of sell induction L = —— mH , capacitance C = F and
L i

resistance R = 10 £1. Find power factor for given circuit. (approximately)
(1)1 (2) 0.5 {304 (4) 0.6

(1)
X, = 2L = 21 % 50 X o2 107 = 10.0)

T

1 - 14
2nfc  100xx 107"

£i= "|.|:r|:<’»:'j +(X -X¢ Fie \][':1"}]2 +(10-10)°

Moo= =100

£= 101}
COSg = E —E

z 10
cosd =1

There in a prism of apex angle of "A’, Its refractive index is egual to cot A2 then find minimum angle of

deviation?
(1) 2% (2) 71— 2A (3 x+A 4= A
2 Z
(2)
sin!' A i ! 5'|n|. L |
| 2 f A 2
= —T— i CD[—Z = . 2
sinf — | sin — |
5. \ 2 )
ws.ﬂ - 5in| M I
z | A !

ﬂ . A+ B _r
2 2 2

= |3:|'i|| - — EH
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In an adiabatic process on a gas P « T? find y of the gas.
(1) 32 (2y513 (3) Ti5 {4) 43
(1)

T2 = constant

L]

TV = = constant

compare with TV = constant

1= 312

A ring and solid sphere of same mass and radius rolls down a same inclined plane. Find ratio of their
kinetic energies on reaching boltom starting from rest from the top.

(1123 (2)1:1 (3)2:1 {4)1:5

(2)

K-E.=mgh

S0 ratio=1:1

In a Galvanometer deflection is 607 when flowing efectric current is 200 pA through Gaklvanometer then,

find electric current at 1; rad deflection.

(1) 50 uA (2) 70 pA (3) 60 pA (4) 80 pA
(3)
I @
L, 8,
I 6y
) 2000A w3 10
= L, nf10 3

Iz =60 pA

Il
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Find radiaticn pressure for perfectly absorbing surface if intensity of radiation = 6 = 10° W im?
C = 3 x10° mis. refraction index of whole medium in which this event occcuringisu =3

(1) 0.12 N/im? (2) 018 Nim? (3) 024 N/m?2 (4) 0.06 Nim?
(4)
= AP MOMENIEN - pressure
Al = A
P= Eo 3 ol [E = mv']
VoA xAL W
= =
e 8210 sl
clp I
6 108 o
£ Ui
P = 0.06 N /m°

Assertion : A rod is stretched by two equal forces from both side, when fores is removed the rod regain
itz original configuration

Reason : This happens due lo elastic property of the rod.

(1) Assertion is true while Reason is false

(2) Assertion is false while Reason is true
(3) Both Assertion and Reason are true
(4} Both Assertion and Reason are false
(3)

Two bodies having mass 4 Kg and mass 5 Kg having same Kinelic energy find the ratio of there linear
momenium?

(1) E @5 (3) E @) E

(2)
P y2mk  [m; _\E
5

Ps 2miaks Ma

A particle moves 80 min last 2 sec in free fall condition then find distance covered 2 sec before striking
the ground from initially point.

(1) 125 m (2) 115 m (3) 60Om {4) 45 m
(4)
AT
-
--h;----:- ------ it—2) sec
B0 m
l X -= tSEC
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1.2 1 o
—gtt——gt-2-=80
29 29[ 1
= l=5szec
1 =
h'=— g[t—2]*
> 8lt-2]
=45m

A simple pendulum have same acceleration at lower position (mean position) & at extreme position. Find
its- angular amplitude.
[1}ztan‘-; (E}Ecot'—; {3)tan’

(1)
Acceleration to guestion

]
4).cot?! —
i4) 5

o

u—_ = g sinfig
2g/{1-cos
= 20NI= ces | gsintly
f
- 2 (1 —costo) = sintg
= tan Sl =M= Ztan"—1
2 2

I

There exists a uniform electric field of 201 NIC. A dipole moment | P |= 15 cm is placed at angle 30° with
electric Nield. Torgue on dipole is.

(1) 120 N-em (2) 110 N-cm {3) 150 N-cm {4) 100 N-cm

(3)

L J

%
—=

:—ﬁXE
= 15 [cos30°i + sin30 )< 201
= —15 sin30° x 20k )

v

¥

=150 k
| t] =150 N-cm
Find electric potential at the surface of a nucleus (z = 50) of radius 9 = 10 Bm.
(1).6 * 10° volt (2) 8 x 10" voit {3)10 x 10 voit {4) 12 = 10° volt
(2)
v_ka
T

S 9% 10% %501 8x=107"°
. 9«10~

- Vo= BD = 107

Il

- W =8 x 10" volt

Recsnnancea Fadnwventures | #d



— ~
HEsSonance’ | jep(main) 2024 | DATE : 27-01-2024 (SHIFT-2) | PAPER-1 | MEMORY BASED | PHYSICS

22.

Sol.

23.

Ans.

Sol.

24,

Sol.

If the primary side of a transformer is connected with 230 V. 50 Hz AC supply and the ratio of number of
turns of primary to the secondary winding is 10 : 1. Load resistance at secondary coil is 46 12 then power

oulput at load resistance.

(1)23 W (2) 625 W (3)115W {4)46 W
(3)
Mo Mg -3
v, N, 10
v, =200 00
11 10
230V 23y B, = 460
_ Vi (23
R, 46
PL=11.5W

Assertion : A point charge moving along equipotential surface, then work done by electric force is zero.
Reason : Electric field lines are perpendicular to equipotential surface.
(1} Assertion is true while Reason is false

(2} Asserlion is Talse while Reason is true
(3} Both Assertion and Reason are true

(4} Both Asserlion and Reason are false

(3)
Theory Based

A closed organ pipe has length 150 em and an anather open organ pipe has length 350 cm. Both are
vibrating in fundamental mode. If value of beat frequency is 7 Hz. Find the speed of sound.

(1) 300 mis [2) 294 mis (3) 280 m/s {4} 210 mis
(2)

U4 .
fi= TR (closed pipe)

2 |

W ;
fam — (open organ pipe)

ha

Z " ¥
fi—k=7= =
4x15h 2x35

At A
TR
= v =294 mfs



